FEUILLE DE ROTATIONS U7 ET U9

6 EQUIPES

EQUIPE 1

EQUIPE 2 T1 J T1 TE T3
EQUIPE 3 T2 T1 J T2 T2
EQUIPE 4 T2 J T2 T3 T1
EQUIPE 5 J T1 T2 T1 T3
EQUIPE 6 J T2 Lk T3 T2

7 EQUIPES _

EQUIPE 1 =
EQUIPE 2 i = 5 = = R
EQUIPE 3 T2 T1 J T2 T2 R
EQUIPE 4 T2 | T2 T3 T1 R
EQUIPE 5 T3 R T2 T2 J T1
EQUIPE 6 T3 J T T1 R T2
EQUIPE 7 J T T R T2 T
EQUIPE 1
EQUIPE 2 J T2 TE T1 T1
EQUIPE 3 T J 1K T2 Tt
EQUIPE 4 T2 J T2 T3 T3
EQUIPE 5 T3 T1 J T3 T2
EQUIPE 6 T2 T3 J T T4
EQUIPE 7 T3 T2 1K J T3
EQUIPE 8 T1 T3 T J T2



